
 

�
𝒇(𝒌)(𝟎)
𝒌!

∞

𝒌=𝟎
∙ 𝒙𝒌 = 𝒇(𝟎) + 𝒇′(𝟎) ∙ 𝒙 +

𝒇′′(𝟎)
𝟐!

∙ 𝒙𝟐 + ⋯+
𝒇(𝒏)(𝟎)
𝒏!

∙ 𝒙𝒏 + ⋯ 

𝒇(𝒙) = 𝒔𝒊𝒏 (𝒙)   =>   𝒇(𝟎) = 𝟎     ,       𝒇(𝒙)
′ = 𝒄𝒐𝒔(𝒙)  =>   𝒇(𝟎)

′ = 𝟏 

𝒇(𝒙)
′′ = −𝒔𝒊𝒏(𝒙)  =>   𝒇(𝟎)

′′ = 𝟎 

𝒇(𝒙)
𝟑 = −𝒄𝒐𝒔(𝒙)  =>   𝒇(𝟎)

′′ = −𝟏 

𝒔𝒊𝒏 (𝒙)    ≈    𝒙 −  
𝟏
𝟑! ∙ 𝒙

𝟑     𝒇𝒐𝒓 𝒔𝒎𝒂𝒍𝒍 𝒗𝒂𝒍𝒖𝒆𝒔 𝒐𝒇 𝒙 

 

𝒇(𝒙) = 𝒂𝒓𝒄𝒕𝒈(𝒙)   =>   𝒇(𝟎) = 𝟎     ,       𝒇(𝒙)
′ =

𝟏

𝟏 + 𝒙𝟐
 =>   𝒇(𝟎)

′ = 𝟏 

𝒇(𝒙)
′′ = −𝟐

𝒙
(𝟏 + 𝒙𝟐)𝟐  =>   𝒇(𝟎)

′′ = 𝟎 

𝒇(𝒙)
(𝟑) = −𝟐

(𝟏 + 𝒙𝟐)𝟐 − 𝟒𝒙𝟐(𝟏 + 𝒙𝟐)
(𝟏 + 𝒙𝟐)𝟒  =  −𝟐

𝟏 + 𝒙𝟐 − 𝟒𝒙𝟐

(𝟏 + 𝒙𝟐)𝟑  =  −𝟐
𝟏 − 𝟑𝒙𝟐

(𝟏 + 𝒙𝟐)𝟑    =>    𝒇(𝟎)
(𝟑) = −𝟐 

𝒂𝒓𝒄𝒕𝒈(𝒙) ≈ 𝒙 −
𝟐
𝟑! ∙ 𝒙

𝟑     𝒇𝒐𝒓 𝒔𝒎𝒂𝒍𝒍 𝒗𝒂𝒍𝒖𝒆𝒔 𝒐𝒇 𝒙 

 

𝒇(𝒙) = 𝒍𝒏(𝒙 + 𝟏)   =>   𝒇(𝟎) = 𝟎     ,       𝒇(𝒙)
′ =

𝟏
𝒙 + 𝟏

 =>   𝒇(𝟎)
′ = 𝟏 

𝒇(𝒙)
′′ = −

𝟏
(𝒙 + 𝟏)𝟐  =>   𝒇(𝟎)

′′ = −𝟏 

𝒍𝒏(𝒙+ 𝟏) ≈ 𝒙 −
𝟏
𝟐! ∙ 𝒙

𝟐     𝒇𝒐𝒓 𝒔𝒎𝒂𝒍𝒍 𝒗𝒂𝒍𝒖𝒆𝒔 𝒐𝒇 𝒙 

 

𝐥𝐢𝐦
𝒙→𝟎

𝒔𝒊𝒏(𝒙) − 𝒂𝒓𝒄𝒕𝒈(𝒙)
𝒙𝟐 ∙ 𝒍𝒏(𝒙+ 𝟏)   =   𝐥𝐢𝐦

𝒙→𝟎

𝒙 −  𝟏𝟑! ∙ 𝒙
𝟑 − (𝒙 − 𝟐

𝟑! ∙ 𝒙
𝟑)

𝒙𝟐 ∙ �𝒙 − 𝟏
𝟐! ∙ 𝒙

𝟐�
= 

=   𝐥𝐢𝐦
𝒙→𝟎

𝒙𝟑

𝒙𝟐 ∙ (𝟔𝒙 − 𝟑𝒙𝟐)   =   𝐥𝐢𝐦
𝒙→𝟎

𝟏
𝟔 − 𝟑𝒙  =   

𝟏
𝟔 



 

𝒚 = 𝟏
𝟔−𝟑𝒙

𝒚 הוא קירוב טוב של  = 𝒔𝒊𝒏(𝒙)−𝒂𝒓𝒄𝒕𝒈(𝒙)
𝒙𝟐∙𝒍𝒏(𝒙+𝟏)

 .𝒚 -א בקרבת ציר ה"ז, 𝒙 עבור ערכים קטנים של 

𝒚 =
𝒔𝒊𝒏(𝒙) − 𝒂𝒓𝒄𝒕𝒈(𝒙)
𝒙𝟐 ∙ 𝒍𝒏(𝒙 + 𝟏)  

𝒚 =
𝟏

𝟔 − 𝟑𝒙  


